BELEANE | PIAR | SR e G~ IR fE 12:30
FREmL 101 9 WER ZINEEAZE (8/31)
FREm L 102 7 SBIETE ZINBEHZE (8/31
FREm L 102 11 SRARAR ZINBEHZE (8/31
FREm L 102 17 g AR ZINEEHZE (8/31
FREm L 104 13 224 ZINBEHZE (8/31
FREm L 105 17 #F R AT ZINBEHZE (8/31
FREmL 106 26 REE ZINEEHZE (8/31
FREm L 107 15 235 AL ZINBEHZE (8/31
FREm AL 107 20 HEW ZINEEHZE (8/31

A. C. Gft 107 35 FE SR ZINEEHZE (9/1)
A. C. Gft 103 5 RIEIE ZINEEHZE (9/1)
A. C. Gft 104 TR 82 ZINEEHZE (9/1)
A. C. Gft 104 26 A FF ZINEEHZE (9/1)
A. C. Gft 105 15 BRI ZINEEHZE (9/1)
A. C. Gft 105 16 ZPE ZINEEHZE (9/1)
A. C. Gft 106 9 BRE = ZINEEHZE (9/1)
A. C. Gft 106 10 BRE = ZINEEHZE (9/1)
A. C. Gft 106 15 2P = ZINEEHZE (9/1)
EIRAL 101 25 RIFLE EENP D (8/31)
EIRAL 102 12 EEMH mE PO (8/31)
EIRAL 102 19 52 mE PO (8/31)
EIRAL 102 21 RES mE PO (8/31)
EIRAL 104 27 e BB (8/31)
EIRAL 104 37 BREHTT BB (8/31)
EIRAL 105 19 KEER mE PO (8/31)
EIRAL 105 26 e EENRL (8/31)
EIRAL 106 21 MIE# BB (8/31)
EIRAL 106 25 sRAHAE BB (8/31)
EEBket 107 24 MEF EENHL (8/31)
EEIKAL 107 37 8 7K EEN R (8/31)
PIBKet 101 5 FIRE ‘B0 (9/7)
PIBRAL 102 23 sRAAZE ‘B0 (9/7)
PIBRAL 106 35 =an ‘B0 (9/7)
PIBRFL 107 36 27589 aEN S0 (9/1)
HEpket 101 22 = B im EENS D (9/1)
HEpket 102 25 A E LR EENS D (9/1)
HEpket 103 21 THF EENSID (9/1)
HEpket 104 25 sRITE EENS D (9/1)
HEpket 104 39 FEEH EENSP D (9/1)
BEBket 107 40 )R mEN S0 (9/1)




= it 107 23 1A YIRERZE (8/31)
= it 102 12 25517 YIRERZE (8/31)
= it 102 15 T YIRER=E (8/31)
= it 102 18 FEPIER YIRERZE (8/31)
= it 102 30 1B YIRERZE (8/31)
= it 104 / JRIEEE YIRERZE (8/31)
= it 104 8 7 PRI YIRERZE (8/31)
= it 104 12 B3 YIRER=E (8/31)
= it 104 16 AR YIRER=E (8/31)
= it 104 29 HEaiE YIRER=E (8/31)
= it 105 2 KED YRERZE (9/1)
= it 105 6 il YRERZE (9/1)
= it 105 24 IR YIRERZE (9/1)
= it 105 29 RIZ YIRERZE (9/1)
= it 106 4 ms YERERZE (9/1)
= it 106 11 Bk IS YIRERZE (9/1)
= it 106 17 a1 R YF YRERZE (9/1)
= it 107 29 FEE R YIRERZE (9/1)
=g 102 20 P SEENP2F(8/31)
2EAt 103 13 B SEENP2F(8/31)
2EAt 105 13 BIEXR SEENP2F(8/31)
2EAt 105 14 ] SEENP2F(8/31)
2E At 105 28 B SEENP2F(8/31)
REE(L 107 2 TIE5 mEROEES (8/31)
REE(L 107 8 MAR k2 mEROEES (8/31)
REE(L 107 15 BRIEE mEROEES (8/31)
REE(L 102 3 MR mEROEES (8/31)
REE(L 102 13 RS mEROEES (8/31)
REE(L 103 3 D mEROEES (8/31)
EEAL 103 18 ZISH mE) PR (8/31)
REEAL 104 2 THZ mEPLEES (9/1)
REEAL 104 4 MIE R mEPOEES (9/1)
REEAL 104 5 R mEPLEES (9/1)
REEAL 106 1 2 0. A4E mEPLEES (9/1)
REEAL 106 3 EER mEPLEES (9/1)
ES 102 10 wPIFE =P EEHZE (8/31)
ES 105 1 [EES. SHEHEAZE (8/31)
EE S 107 18 NG 5PEHEAE (8/31)
g B BT 5E AL 107 7 M= E28R=E (8/31)
g Bl BB 5 AL 101 16 =5l E2ER=E (8/31)
g Bl BB 5 AL 104 14 2EE E2ER=E (8/31)




g Bl BT IR AL 105 5 IG5 TR EEERE (8/31)
g Bl BT IR AL 107 1 o] K22 EEERE (8/31)
g Bl BT IR AL 107 8 RN EEERE (8/31)
g Bl BT IR AL 107 9 EHEE EEERE (8/31)
g Bl BT IE AL 107 17 #OBS EEERE (8/31)
EEEAL 103 34 B == (8/31)
AL 105 21 MEH == (8/31)
s AL 106 31 =it == (8/31)
& e & 25T 50 4T 102 34 2R SPELEHZE (9/1)
(2052 40T 554t 105 30 EFégﬁ SPEEHZE (9/1)
(2055 40T 554t 106 32 BRE SPEEHZE (9/1)
S5 B 0TI 106 33 =105 SPEEHZE (9/1)
(2055 40T 504t 106 34 =R SPEEHZE (9/1)
(2052 40T 504t 107 21 L8R SPEEHZE (9/1)
(2055 40T 504t 107 25 SBREIR SPELEHZE (9/1)
(2055 40T 554t 107 26 sEA RS = PEEHZE (9/1)




